

Άσκηση 1

Να λύσετε με τη μέθοδο της αντικατάστασης το παρακάτω σύστημα εξισώσεων

$$y = 3$$

$$y = 2x + 1$$

Λύση:

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

Άσκηση 2

Να λύσετε με τη μέθοδο της αντικατάστασης το παρακάτω σύστημα εξισώσεων

$$y = -x + 2$$

$$y = -x - 1$$

Λύση:

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

Άσκηση 3

Να λύσετε με τη μέθοδο της αντικατάστασης το παρακάτω σύστημα εξισώσεων

$$x + y = 2$$

$$x + 3y = 6$$

Λύση:

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

Άσκηση 4

Να λύσετε με τη μέθοδο της αντικατάστασης το παρακάτω σύστημα εξισώσεων

$$3x - y = 2$$

$$x - y = 0$$

Λύση:

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

.....

